MOvesense The Journey from an

Infernal o an

Data Collector Essential Tool



History



Challenge Solution
© Need algorithms to evaluate data © Create internal tool to collect data

O Have no idea about the data



Setup

Please select oar #1 >
Please select seat #1 >
Please select oar #2 >

Please select seat #2 >

Setup
oar #1 (175030000524) >

Please select seat #1 >
Please select oar #2 >

Please select seat #2 >

Connect
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Please synchronize two devices.

Warning: One or more of the

Movesense devices are out of date.
This could affect the measurements,




Surprise!

Other people have the same challenges.



Setup

Accuracy:

/4 Please select device #1 >
+



Setup

Accuracy:
B Measure HR

/4 Please select device #1 >
+

device #1 (175030000524):
Acc: (-0.1, -0.3, -9.6)

Gyro: (-0.9, 1.2, -0.2)

BPM: 108

device #2 (182430001527):
Acc: (-0.1,-0.2, -9.5)

Gyro: (-1.0, 1.3, -0.4)

BPM: 81

device #3 (175130001042):
Acc: (-0.1, 0.3, -9.7)

Gyro: (-0.9, -1.2, -0.2)
BPM: 89

device #4 (182120000384):
Acc: (0.2, -0.3, -9.5)

Gyro: (0.6, 0.8, -0.2)

BPM: 96
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Setup
Accuracy:
B Measure HR
B Measure ECG

/4 Please select device #1 >
-+

device #1 (175030000524):
Connection status: OK
Acc: (-0.1, -0.3, -9.6)

Gyro: (-0.9, 1.2, -0.2)

BPM: 108

ECG: 317

device #2 (182430001527):
Connection status: Unstable
Acc: (-0.1, -0.2, -9.5)

Gyro: (-1.0, 1.3, -0.4)

BPM: 81

ECG: -29

device #3 (175130001042):
Connection status: OK
Acc: (-0.1, 0.3, -9.7)

Gyro: (-0.9, -1.2, -0.2)
BPM: 89

ECG: 157

device #4 (182120000384):
Connection status:

Acc: (0.2, -0.3, -9.5)

Gyro: (0.6, 0.8, -0.2)

BPM: 96

ECG: 185
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Setup
Accuracy:

B Measure HR
B Measure ECG

B Record on Start
/4 Please select device #1 >

.

device #1 (175030000524).
Connection status: OK
Acc: (-0.1, -0.3, -9.6)

Gyro: (-0.9, 1.2, -0.2)

BPM: 108

ECG: 317

device #2 (182430001527):
Connection status: Unstable
Acc: (-0.1, -0.2, -9.5)

Gyro: (-1.0, 1.3,-0.4)

BPM: 81

ECG: -29

device #3 (175130001042):
Connection status: OK
Acc: (-0.1, 0.3, -9.7)

Gyro: (-0.9, -1.2, -0.2)
BPM: 89

ECG: 157

device #4 (182120000384):
Connection status:

Acc: (0.2, -0.3, -9.5)

Gyro: (0.6, 0.8, -0.2)

BPM: 96

ECG: 185

Pause

Stop
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Setup
Accuracy: IMU: B
B Measure HR 6
B Measure ECG 9
Record on Start
/4 Please select device #1 >
+
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Gyro: (0.6, 0.8, -0.2)
Magn: (-1.9, -61.9, -49.5)
BPM: 96

ECG: 185
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NEVER UNDERESTIMATE

YOUR OPPONENTS




Version 2.0

Back to the Drawing Board
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Darum Vodafone | Maobsfunk & festnetz Losungen

Privathunden  Geschaftskunden + 0 TN AR - -

Darum Vodafone Mobilfunk & Festnetz | Losungen ‘ Spezifische Branchen ’ Hilfe |

Wehr erfateen

Automatisieren Sj
Business

1 & Bebivden / Losungen / Internet of Things Unternehmen & Behérden

Internet of Things

Schépfen Sie Ihe Potenzial voll aus - mit Machine-to-Machine von Vodafone

6

Optimieren Sie Prozesse, erweitem Sie Geschaftsmodelie und sparen Sie Gartner bestatigt Vodafone als
wichtige Ressourcen durch automatisierte DatenGbertragung. M2M bietet weltwelt fihrendes Unternehmen im
vielsaitige Einsatzmoglichkeiten in allen Branchen - mit Vodafone als Magic Quadrant fur Managed
2uverldssigen Partner Machine-to-Machine Services

Teilen

Gartner Research, 2015

Gewinnen Sie Einblicke in die Praxis digitaler
Untemehmen

Vodafone M2M Barometer 2015



Welcome back

Project 01

Project 02

Project 03

Project 04

Project 05




What is your What you would like How many sensors Choose the accuracy
project name? to measure? would you like to use? that you would like
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Tomperature Temperature




< Accuracy PRO

ECG with frequency

Movement data with frequency

Temperature

Others...




€ Accuracy Devices < Accuracy Devices

Device 01 Device 01

Device 02 Device 02

Device 03 Device 03

Hey there!

We have problems with
Device 02, check the bateries.

Reconnect




Device 02 Device 02 Device 02

Device 03 Device 03 , Device 03

Record ‘ '
= - BTN I




Device 01




O If you have a challenge, someone else might have that, too.

O If you have a solution, someone else might need that, too.
O Sometimes you must move back to go forward.

O Beware of Stop buttons!












https://1drv.ms/p/sIAnkWjV

60OE_7EX7NpfanwzuEJc5z




